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26. Choose the pair that would fill in the blanks in the following sentences : 

(a) She looked the stairs. 

@) They went the house. 

Answer Options : 

(1) at, up (2) to, into (3) up, inside (4) towards, at 

27. Iden* the correctly framed questions 

(a) How long she is staying in India ? 

@) Has the fat woman been very clever ? 

(c) How many gold ornaments she is wearing ? 

Answer Options : 

(1) (a) only 

(3) (a) m d  (b) only 

28. Which pair will fill in the blanks in the following sentences ? 

(a) - those wet things out. 

@) I'll gve you a tonight. 

Answer Options : 

(1) Wriggle, ring (2) Wrinkle, ring (3) Wring, ring (4) Wrestle, ring 
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I l l f i r  !:Lary is C? li~~:'!r~u? kt,,: 

c 1) bd1.c.:: ( 2 )  ";i; ::!is s : :; oltl jYrsons (4) beggars 

Tdcntitv thi? I .uTI~.:~ rncz:ii;lp ;;f t!!i, r:r,,clal r . i r ~ & r  lil-ird. 

(1) C)r*3!:! 1 , :  i:.., ,, :<ii, i,") Duty (4) Advice 

31. ! i ! I~ ! I ! I : v .  : i  8 ,  : t , , . !  ) I . !  ~r~other,, ~ ~ ~ h a t  was she like ?" (Direct 
speech) 

Indirect spt>i.<.h p! th i  cr:-ti!l!c~~ r i j l l  i.;. 

1 )  Mary s i ~ i ~ '  to !iil!l <, i '~i t ' ;  :I:.(: .it-.(, 23 not remernl7er his old mother and inquired 
what ,.!kt. :v;is lik-. 

( 2 )  Miry .;aid tc !ii!n 5 .  . . y~.z.I. 4!k;: . !ti. 1:- :, : :-irccntbe~ !!is old mother and inquired what 
shc is likc. 

( 7 )  YLL3ry ,,aid +.. I::,:: r,,.rlk:y c * . ~ + , : ~  1 *:,.: ,~,c>; . ~ . e ~ l L , ~ 7 y ,  . . . .  b1.1 !xi3 OIL[ r~iother and inquired what 
d:lcs !;he ! , k t .  

) .Llari. ,aid t!! him get~tly :;:I< ~ l c ~ r ; ~  :r,~:t :I~:I ember l?is old mother and inquired 
v"?,zt :;I,,> ,,..!, > a ,  I,{ 1~1'. :i1.,. 

(3) HOW much l l ind a nur: w:,i I !:tl:?r1 

(4) kT;,cl ,,,,ac I - T ; k l r v m  



33. (a) My house contains many specious rooms. 

@) Nobody was impressed with his specious arguments. 

Idenhfy the correct sentence. 

(1) Only (a) is correct (2) Only @) is correct 

(3) Both (a) and @) are correct (4) Both (a) and @) are incorrect 

-- 

34. Which is the correct expression out of the alternatives ? 

(1) A finger in every pie (2) A finger in every soup 

(3) A finger in everything (4) A finger in every dish 

35. Pick out the most appropriate phrase for the underlined word in the following sentence : 

She welcomed him very affectionately. 

(1) With open arms (2) With open doors 

(3) With an open book (4) With open letter 

36. Select the word which is synonym of the underlined word in the following sentence : 

To be healthy one should - from smoking and alcoholism. 

(1) Enjoy (2) Accept 

(3) Not to indulge in (4) None of the above 

37. Identify adjective clauses : 

(a) The organisers invited entries that did not exceed 1000 words 

@) Did you see the man who was asking for you ? 

(c) I made the dress that I intend to wear. 

Answer Options : 

(1) (a) and @) only (2) (a), @) and (4 
(3) (a) and ( 4  only (4) @) and (4 only 
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38. Choose the correct exclamatory sentences : 

(a) What ? a lot you have bought! 

(b) What a lot you have bought! 

(c) What ! A lot you have bought ? 

Answer Options : 

(1) (a) only (2) (b) only 

(3) (a) and (b) only (4) (a), (b) and (4 
- - - - - - -- -- 

39. Choose the correct sentence/~ : 

(a) One student only came in late yesterday. 

(b) He married her only for her money. 

(c) 1 hardly know this girl. 

Answer Optionti : 

(1) (a) and ('4 only (2) (a) and (4 only 

(3) @) only (4) @) and (4 only 

40. That you have come pleases me. 

The underlined g ~ o u p  of words is an example of : 

(1) Adjective clause (2j Adverlb clause 

(3) Noun c1aus.e (4) None of the above 

41. Notwithstanding the resistance offered by him, he was arrested by the Police. 

The meaning of the word 'Notwithstanding' here is : 

(1) Inspite of (2) Because of (3) hn view of (4) By dint of 
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42. Put the correct verb in the blank. 

"The rise and fall of the tide due to lunar influence." 

(1) are (2) is (3) are not (4) have 

43. 1 was doubtful whether it was you (Affirmative) 

The correct negative form of this sentence will be : 

(1) I was not sure it is not you. 

(2) I was not sure it was you, 

(3) I was so sure it was you. 

(4) I was so sure it was not you. 

44. Choose the correct meaning of the phrase/idiom. 

To rule the roost. 

(1) To do a difficult job (2) To pass a critical stage 

(3) To get ahead secretely (4) To dominate 

45. Select the word which is antonym of the underlined word in the following sentence : 

There is dispute going on about the exact meaning of the word 'Secularism'. 

(1) Mutual agreement (2) Discussion 

(3) Controversy (4) None of the above 

-- 
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Question number 46 to 50 passage for comprehensior~ : 

Dr. Ambedkar delivered this important address on the l O l S t  birth anniversan. of Justice 
Ranade, one of India's foremost political and social thinkers. At the beginning of his address, 
Dr. Ambedkar discusses the role of man as a maker of history According to hun, the theory of 
Buckle that the history is created by Geography and Physics, and that of Marx that it is result of 
economic forces, both speak the half truth. They do not give any place to man. But Dr. Ambedkar 
asserts that man is a factor in the making of history and that environmental forces alone are not 
the makers of history. 

Dr. Ambedkar further proceeds to discuss the tests of a great man as propounded by 
Carlyle the apostle of Hero Worship, and also of other political thinkers. After exhaustive 
discussion, he obserges that sincerity and intellect the combination of which are necessary to 
make a man great. Eiut these qualifications are not alone sufficient. A man possessed of these 
two qualities must be motivated by the dynamics of a social purpose and must act as a scavenger 
of society. 

According to Dr. Ambedkar, Ranade was a great man by any standard. He wanted to 
vitalize the Hindu society to create social democracy. 1:anade lived in times when social and 
religious customs, however unmoral, were regarded as sacrosanct. What appeared to Ranade 
to be shames and wrongs of the Hindu society, were considered by the people to be most sacred 
injunctions of their I-eligion. Ranade wanted to vitalize the conscience of the Hindu society 
which became moritsund as well as morbid. Ranade aimed to create a real social democracy, 
without which there could be no sure and stable politics. Dr. Ambedkar points out that Ranade's 
aim was to cleanse the old order and improve the moral tone of the Hindu sociew. 

Concluding his address, Dr. Ambedkar cautions against despotism. He says, "Despotism 
does not cease to be despotism because it is elective. Nor does despotism become agreeable 
because the Despots llelong to our own kindred .................. The real guarantee against despotism 
is to confront it with the possibility of its dethronement ......................... of its being superseded 
by a rival party." 

46. Moral atonement of the Hindu societv was wanted by 

(1) Dr. Ambedkar (2) Carlyle (3)  Justice Ranade (4) Marx 

47. Justice Ranade'!; greatness lies in his . 

(1) desire to vitalize the Hindu society 

(2) efforts LO ewaken sense of right and wrong in the Hindu society 

(3) authorih. 1s a Justice 

(4) Both (1) and (2) 
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48. Justice Ranade wanted to 

(a) bring reforms in the Hindu society 

(b) to establish social democracy 

(c) make the Hindu religion a great religion 

(d) both (a) and (b) 

Answer Options : 

(1) (a) (2) ('4 and (c) (3) (4 and (dl (4) (a) and @) 

49. The above passage discusses -. 

(a) various notions of history 

(b) Justice Ranade as a great political and social thinker 

(c) the Hindu society 

(d) despotism 

Answer Options : 

(1) (a) and (b) (2) (b) and (4 (3) (c) and (d) (4) @) Only 

50. Select the most appropriate alternative for the following question. 

The above passage is 

(1) an essay (2) a speech 

(3) summary of a speech (4) None of the above 

World Wildlife Day (WWD) was observed on 31d March 2016 across the world. The 
theme of 2016 WWD was . 
(1) The future of wildlife is in our hands 

(2) Wildlife is nature's beauty 

(3) Save wildlife to save future 

(4) None of the above 

i + i T 4 l d  ;irmr /SPACE FOR ROUGH WORK 



Paani Foundation joined hands with Maharashtra government for water conservation. 
Paani foundation has been started by 

( 1  Salman Khan (2) Aamir Khan 

(3) Nana Pal:ekar (4) Amikabh Bachhan 

53. k9b 4lWl Jim4 2015 9d W X  h d . $ &%la 
&. 

(1) mqm+zl4*  ( 2 )  Tq,;jr*m 

(3) ~ S ; T J J - T [  (4) * 7m 
Bibek Debroy Committee, which submitted its final report in June 2015, is related to 

(1) Restructuring of UGC (2) Goods and Service Tax 

(3) Restructuring of the Railways (4) Net :~eutrality 

54. ETEk&%?M%em*&? 

(a) ~ ~ d ' M ~ m h ' ~ , 3 d i t .  

(b) 7 ! ? ~ ' ~ * . r ~ M m m ~ ' - s r m l + ~ ~  

(c) T ~ m ~ ~ 7 5 ~ m + i T V l n T i t .  

m*: 

Which one of the following statements is false ? 

(a) The Government of Maharashtra has launched the 'Farmers Accident Insurance 
Scheme'. 

(b) The Scheme is called as 'Gopinnth Munde Farmers Accident Insurance Scheme'. 

(c) Under the Scheme each farmer will get 7 5 lnkh insurance cover. 

Answer options : 

( 2 )  (b) (1) (a) (3) (c) (4) None of the above 
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(4) d ~ w r f ? w m ~ f % 4 ~ 4 f M ? ~ 3 m ~ & .  

Which of the following statements is false ahout 'COP 21' ? 

(1) It was a United Nations climate change conference held in Paris in December 2015. 

(2) It was a summit oi world leaders and delegatrs of more thar. 190 nations. 

(3) The agreement will come into force after ratification by at least 55 nations. 

(4) The agreement aims to limit global warming by 4 degree Celsius. 

has hecome the first state in the country to introduce compulsory gender 
education till the graduate level. 

(1) TamiI Nadu (2) Trlangana (3) Chhdttisga~h (4) hlaharashtra 

won the 'South Asian Football Federation Cup (SAFF) o r ~  January 3, 2016. 

(1) Afghanistan (2) Pakistan (3) India (4) Sri Lanka 

=EE4l TlTFT& /SPACE FOR ROUGH WORK 
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58. -- *T WT4l '?%i m' XF&'kf (Three-parent babies) 

2015Td ~ m ' t n r m ~ m ~ m + ~ ?  

Wiich of the following became the first country in the World in 2015 to give a nod to 
'three-parent' bzbies a move aimed at preventing serious inherited diseases being passed 
on from mokher to cliild. 

(1) USA (2) Germany (3) France (4) Britain 

The name of EGl!; India Consulting Engineers Pvt. Ltd. has been finalised for the Chatrapati 
Shivaji memoria:! in Arabian Sea. The Company is based in . . 

(1) Indi? (2) France (3) Japall (4) Germany 

(b) ~ ~ ~ m f w w i t + + k T 3 7 p a * 3 i l m 4 i i i m * ~ ~ ~  
v d & d * .  

(1) Bw~ (a) $M, (b) (2) fiWi @) *: (a) e 

Conslder the following statements : 

(a) Mumba~ Police Commissioner Ahrned Javed has been appointed ds the Ambassador 
to Saudi Arabia. 

@) Another former Mumbai Police Commissioner, Julio Ribeiro, had earlier served as 
India's Am;~assador to Saudi Arabia. 

Answer options : 

( I )  Statement (a) is correct, (b) is false (2) Statement (h) is correct, (a) is false 

(3) Both the statements are correct (4) Both the statements are false 
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(a) k4 * 3$f @ 3, * %d tFd ( ~ a r ~ a o )  (*) 39 'am h' 
(Tunnel Technology Institute) FTW @. 

(d) '< $WJl %d Ti653 %. (KRCL) 1990 74 FTW d. 

(1) (a) (2) @) (3) (c) wl% (4 (4) - m * 
Consider the following statements : 

(a) The Railway Minister announced that Konkan Railway will establish a Tunnel 
Technology Institute at Margao (Goa). 

@) The institute will be called as 'George Fernandis Institute of Tunnel Technology'. 

(c) The institute will be the first of its kind in the nation. 

(d) The Konkan Railway Corporation Ltd. was formed in 1990. 

Which of the above statements is/are false ? 

(1) (a) (2) @) (3) ( 4  and (d) (4) None of the above 

(I) Jriw ntm (2) - 
Under the India Handloom Brand Scheme 'Chettinad' cotton saree got the Indian 
Handloom Brand tag for its unique design and identity. It is the traditional saree of 

state. 

(1) Andhra Pradesh (2) Tamil Nadu 

(3) Kerala (4) Karnataka 
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~ ( ~ ) : ~ r n ~ ~ ~ ~ ~ ~ ~ m ~ ~ ~ h  
*I. 

Z6lVT (R) : ~ d h  i f c r m  361 7FWEf3? 3fbl&& &h *T 

m w k M ~ T k ~ r n ~ & .  
(1) (A) WE7 (R) 34 v7-i w? (R) m ( ~ )  a[ * w &. 
(2) (A) WE7 (R) 34 rn w? (R) fl (A) a[ * w m  *. 
(3) (A) *7 & (R) * &. 
(4) (A) WE7 (R) 34 * *. 
In the context of events unfolding in  the Arunachal Pradesh, consider the io!lowing 
statements : 

Assertion (A) : A state Governor's recommendation in relation to the impcjsi!ior. of 
President's rule cannot be scrutinised by a court of law. 

Reason (R) : Article 361 of the Constitution gives the Governor protection from legal 
action for acts done in performance of his powers and duties. 

(1) (A) and (R) both are true and (R) is correct explanation for (A). 

(2) (A) and (R) both are true and (R) is not correct explanation for (A). 

(3) (A) is incorrect (R) is correct. 

(4) (A) and (R) both are incorrect. 

64. GTd?Tbd@mm~~all: 

(a) 2 & 2015 fh? & 34 'm +&' ~ e ~ m ; l  

33TTiEIrn mlm7 ~~ aid?. 

(1) (a) (2) @) (3) (3) WfiJl (c) (4) * Wd 
Consider the following statements : 

(a) India on Sept. 2, 2015 signed an agreement with UNESCC) tc~ cstab1,sh a centre for 
conservation of 'natural' heritage sites at Dehradun. 

(b) There are 32 World heritage sites in India that are recognised bv UNESCO as of 
2014. 

(c) Out of total heritage sites in India, there are 7 natural heritage sites. 
Which of the statements given above is/are correct ? 

(1) (a) (2) @) (3) (4 and (4 (-1) A11 above 
p~~ -~ .. - ~~. 
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(1) 909 (2) 1009 (3) 1109 (4) 1209 

Cricketer Pranav Dhanavade established new record on 5'" Jan. 2016 by hitting 129 Fours 
and 59 Sixes. How many runs did he score finally ? 

(1) 909 (2) 1009 (3) 1109 (4) 1209 

66. 2016-2017 ~dclwwirliid g d  WTm JTfqom d Flzf mma +. 41 J T f q m  q 
-- * &. 

(1) 0.5 (2) 1 (3) 1.5 (4) 2 

Under the union budget 2016-2017, Krishi Kalyan Cess will be levied on all services. The 
percent of this cess is 

(1) 0.5 (2) 1 (3) 1.5 (4) 2 

67. ~ ~ d ~ :  

(a) f%+i~ mW dt. 
(b) '*m 3mlTh?'Twrnr%. 

(c) + m - ~ l f F f t m * .  

(4 =?4qvvm-. 
Pgfdf*: 

(1) m m *  (2) * m* 
(3) - m* (4) - m* 
Name the person described below : 

(a) Wife of Vikram Sarabhai. 

(b) Established 'Darpan Dance Academy'. 

(c) Sister of Captain Laxmi Sehgal. 

(d) Recipient of Padmashri and Padma Bhushan. 

Answer options : 

(1) Mallika Sarabhai (2) Mrunalini Sarabhai 

(3) Malvika Sarabhai (4) Mandakini Sarabhai 

W W d  TPll /SPACE FOR ROUGH WORK 
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Maharashha government has announced 'Bharat ratna Dr. Babasaheb Ambedkar Special 
Collective incentive scheme for . 

(1) The ecoriomically backward Dalit students 

(2) The economically backward Dalit women 

(3) The economically backward Dalit elderly people 

(4) The ~coriornicallv backward Dalit entrepreneurs 

(1) (a) (2) @) mJl ( 4  (3) (c) * (a) (4) (el 

Which countries do not belong to 'G - 4' g o u p  7 

(a) Germany @) Japan (c) Brazil (d) lndia (e)  France 

Answer options : 

(1) (a) (2) (b) and ( 4  (7 )  (c) and ('1) (4) (4 

Name the autobiographv of R.K. Laxman. 

(1) The Unc:omrnon Man (2) The Tunnel of Time 

(3) The Time of Common Man (4) The Malgudi Days 

M X l W U d  WlT /SPACE FOR ROUGH WORK 



71. M % k ~ e & ?  

(a) '-'~%*4 &. 

(b) T91*rnrn*&. 

Which of the following statements is incorrect ? 

(a) 'Shabarimal' temple is in Kerala. 

(b) There is a ban on enhance to the ladies in this temple. 

(c) There is a ban only on the enhance of women in the age group of 10 to 50 years in 
this temple. 

Answer options : 

(1) (a) (2) (b) (3) ( 4  (4) None of the above 

Maharashtra government has approved APJ Abdul Kalam Amrut Yojana. The objective 
of this scheme is 

(I) To curb malnutrition among tribal children by providing nutrition to pregnant 
women for six months 

(2) To curb mahuhition among school going children 

(3) To curb malnuhition amongst girl children 

(4) None of the above 

& WT /SPACE FOR ROUGH WORK 



Recently the Union Cabinet approved the setting up of three new All India Institutes of 
Medical Sciences (AIIMS) under Pradhan Mantri Swasthya Suraksha Yojna at 
-- and 
(1) Nagpur, Manglagiri, Kalyani (2) Nagpur, Vijaywada, Asansol 
(3) Pune, Kadapa, Durgapur (4) Nagpur, Nellore, Murshidabad 

(4) o m a - ~ ~  y m  
The 119th Constitutional Amendment Bill (100~'' Constitutional Amendment) which was 
passed by the Parliament in 2015, is related to 
(1) Goods and Service Tax 
(2) National Judicial Appointment Commission 

(3) Increasing the age limit ef High Court Judges 

(4) India - Bangladesh Land B o u n d a ~  

The collection of poetry written by Mangesh Padgaonkar include : 
(a) Gazal @) Vidushak (c) Salam (d) Utsav 
(e) Dharanrlitya (f) Nisargvan 
Answer optior~s : 

(1) MY (a), (b), (4 ,  ( 4 ,  (el (2) Only (a), @I, (4, (4, (f) 
(3) MY (a), (b), (c), (el, (f) (4) MY (a), (b), (4, (4, ( f )  



Select the logically odd image from the group : 

A, B, C, D and E are family members. A is daughter of B but B is not the father of A. D 
and E is a normal couple. C is the son of D, who is brother of A. Select the option that 
indicates how E is related to B : 

(1) Daughter 

(2) Daughter-in-law 

(3)  Mother-in-law 

(4) Cannot be ascertained for lack of knowledge about E's sex 

5=5T /SPACE FOR ROUGH WORK 
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Select the minimum number of colours that are necessary to colour different areas of the 
accompanying image so that the same colour is no where on both the sides of any line. 

Seeta was bo:rn on 22"* November, Rekha is older than Seeta by 16 days. During that 
year, 1 4 ' ~  November; Children's day was on Wednesday. On which day was Rekha 
born ? 

(1) Monday (2) Tuesday (3) Wednesday (4) Thursday 

- - 

5 E Z l l  T m  /SPACE FOR ROUGH WORK 



Which number would replace the question mark ? 

A dishonest shopkeeper professes that he sells the wheat at its cost price. But he uses a 
false weight of 950 gms for a kg; then his gain is %. 

TP l l  /SPACE FOR ROUGH WORK 
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Select the logical option for completing the square : 

3=Z4T W T d  Wll /SPACE FOR ROUGH WORK 



(1) 6 (2) 21 (3) 5 
What will be the number in place of the star (0)  ? 

Find the next figure ? 
Problem Figures : 

& X V l  /SPACE FOR ROUGH WORK 

T C 

X 

- - 

P.T.O. 

Answer Figures : 

(1) (2) 
A  

S  T 
- - 

S O  

x S  = 

x y  

x o  = 

1 
= A  a +  

A  

1 
? 



How many four digit numbers can be formed without repeating a digit from 
1, 2, 3, 4, 5, 6 ? How many of these will be greater than 4000 ? 

The accompa~nying figure is showing the blocks arranged in a particular order. Select the 
option indicating the number of blocks that are joined by three or more surfaces of other 
blocks : 

- 

Tl'WRd TPlT /SPACE FOR ROUGH WORK 



Select the option in which image A is embedded : 

88. - ~ * T M :  

YVS, URO, QNK, MJG, ? 

(1) IFE (2) IFC (3) IGE (4) LJG 

Select the appropriate group for replacing the question mark. 

YVS, URO, QNK, MJG, ? 

(1) IFE (2) IFC (3) IGE (4) LJG 

hra41 d /SPACE FOR ROUGH WORK 



(1) 10 : 11 : 12 : 13 and 10 : 13 (2) 9 : 10 : 15 : 13 and 9 : 13 

(3) 10 : 15 : 18 : 9 and 10 : 9 (4) 11 : 12 : 13 : 14 and 11 : 14 

Pointing to Amit Anita said, "His mother is the only daughter of my mother". How is 
Anita related to Amit ? 

(I)  Mother (2) Daughter (7) Sister (4) Grandmother 

How many times hour hand and minute hand will form 90" angle from 9.00 a.m. to 
9.00 p.m. in the clock ? 

(1) 24 times (2) 23 times (3) 25 times (4) 12 times 

-- -- 

5 = 4 T  =FIT /SPACE FOR ROUGH WORK 



Select an appropriate image for the sth place in the following image series : 

3iEZlT T J l T  /SPACE FOR ROUGH WORK 
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1 th 
Selling item for f 150 results in - loss on purchase price, then what is the purchase 

6 
price of the item ? 

Anu and Janu are walking on the circular track with the uniform speed and ratio of 
Anu's speed to that of Janu's is 2 : ?. Along the periphery of this track there are eight trees 
labelled as K, I,, M, N, 0, P, Q and R at equal distances. If Anu starts from tree K and Janu 
starts from tree L at the same instance select the tree where thev will be meeting at the 
same time. 

M WWU& Tll /SPACE FOR ROUGH WORK 



Paper sheet is folded as shown below and punched as shown by dark patches. Select the 
option that is obtained by unfolding the triangular fold using the reverse process : 

t 5 P T U d  TIT /SPACE FOR ROUGH WORK 



96. 3 W 7 , W G R ~ T h f b T ~ l ~ ~ ~ ~ ~ ~ .  d 1 W h k I l  

f 3000 m. WGR 4 $+?d e 7 5000 3Th f 8000, e 1 1 WkRll7'JF&. 

* w ~ . s i ; r r t 4 1 2 0 3 i m ; r ~ ; m m m 3 i ~ ~ 4 ~ a n 3 - f $ ; i i t ~ f i n T i m  

m? 
(I) t 1200 (2) t 1280 (3) t 1300 (4) t 1380 
Amar, Akabar and Anthony form a partnership firm on 1" January. Amar invests his 
t 3000 on 1" Januarv. Akabar and Anthony however invest t 5000 and t 8000 on 
lSt June and Is' septe&ber respectively. If the protit at the end of the year is t 4120, how 
much anlounl wiII Anthony get as his share of profit ? 
( 1  t 1200 (2) 7 1280 (3) t 1300 (4) 7 1380 

Select the log~cal option for completing the square 

- - 
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1 rd 
Dip finished his - of the work in five days. He finished the remaining work in six days, 

3 
with the help of Vasanta. If Vasanta obtained 7 360 as wages; find the wages Dip 
obtained ? 
(1) f 1000 (2) 7 990 (3) f 900 (4) 7 720 

99. * - * m m h * * ?  
41. 05, 56, 78, 69, ? 

(1 )  91 (2) 81  (3) 89 (4) 92 
\$'hat figure should come in pIace of the question mark in the following number series ? 
43, 65, 56, 78, 69, ? 

(1) 91 (2) 81  (3) 89 (4) 92 

100. in? A +R 10  fWJRl ~3 +~d, 4~ & ?Id B 3 q 7  d d .  
B * + P I ~ O - @ ? ? ~ .  ?4lC?FTFftM ~ @ W ? J W T l % J h k .  *mi% 
fi.mnam+mfh? 

Painter A can complete the work in 10 davs, but he has no time, so he takes the assistance 
of B. B can compietp th' same work in 30 days. Now they decide to work together. In 
how many days will they complete that work ? 

3lTl /SPACE FOR ROUGH WORK 
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